TMVA update

1) BDT response cuts to check the Acos0 shape.
) AcosO usage in BDT training & further checks.
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BDT response

TMVA response for classifier: BDT TMVA overtraining check for classifier: BDT
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Efficiency (Purity)
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For BF of 5x10° and our
corresponding efficiency,
we are expecting 190
signal events.



AcosO with BDT score > 0.15
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AcosO with BDT score > 0.25
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Background rejection

Background rejection versus Signal efficiency TMVA
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Cut efficiencies and optimal cut value
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As our test and training samples
are (50-50)% of the sample so in
the definition, 500,000 is used as
total number of generated events.



AcosO with BDT score > 0.20
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Usage of AcosO in BDT training
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TMVA response for classifier: BDT TMVA overtraining check for classifier: BDT
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Efficiency (Purity)
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AcosO with BDT score > 0.13
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Cut efficiencies and optimal cut value
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AcosO with BDT score > 0.16
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Background rejection

Background rejection versus Signal efficiency TMVA
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